Assignment 1.2 Database Interpretation

The following is a reconstruction of a patient table in a relational database:

Company Table

COID | Company Name

CO1 Comimunity Hospital Incorporated

CO2 Oakland Providers LLC
Patient Table
PID | Last Name | First Name | Work Address | City State | CO ID
Po1 | Robeson Bill 1312 Main Portland | OR Co1
Po2 | Schmidt Walter 14 12th Street Oakland | CA Coz
Po3 | Stahl Mary 14 12th Street Oakland | CA Coz2
Po4 | Brookings Albert 1312 Main Portland | OR Co1
Pos | David Catherine 14 12th Street Qakland | CA Coz

Answer the following questions of how you interpret the information presented in the relational
database.

1. How many patients live in California?
2. How many patients are located or use Oakland Providers?
3. How has using a relational database improve the manageability of data?
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